= emist BE L .
ST LR S 5S-E » BF =l binder

[l M12 §+3KE=FE, ¥ 4+FE, JERRK, THR, IP67, M16x1.5, #RATEE
SEHE M12-L
ith= 99 0641 10 05
1] SR EEBIE
Je
@
2

n
wat0 102] 29

[
=
T
2
k

o~
=

Pos. | 000] 0,00]
Pos. [ 0,00] -5,
Pos. | 306] 47

W 19mm |
SW134mm

BXZZHE (SMEETUA)

LE I AL ST T e

AL

FESH

e

FER IR ShSkEEE

Type standard DIN EN IEC 61076-2-111:2018-10;VDE 0687-76-2-111:2018-10
has Bk E L mAEER

HHA : 09.04.2024



= amini A

Boh{biARERES-BE > BHIEN

=

SEE
s

EERYEEE
#EAN
FHIFER
TIIERE
IRIRREL

B2 (g
BERXHS
FE=E

BSEY

TMERE
e L RE
BUE B
445 FpE
HEL5
R
EMVEFIE

i

ShFEAti
$EARAIE
R
$EARE
SHEMEY
REACH SVHC
SCIPSH3

PAES

eCl@ss 11.1
ETIM9.0

M12 $H3EZBE, 1R E8: 4+FE, JEBFHK, THR, IP67, M16x1.5, #RATEIE

M12-L
99 064110 05

M12x1

THR

P67
-40°C/105°C
> 100 HHRREL
16.62
85369010

DE

63V
1500V
16.0A
>10"Q
1]

FFBFK

EREES¥, 12

PA (UL94V-0)

SRS (E5)/HH (HEER)

Au (s&)

5T, $2

CAS 7439-92-1 (Lead)
39661207-49d4-4644-957c-a8aaccl0fd2d

27-44-01-02
EC002635

S

binder

HEA © 09.04.2024



= amini A

BohCiRiEZR-BE > BIIHN

S

= M12 $t353R =R, #R%: 4+FE, JERIR, THR, IP67, M16x1.5, ARAIEIE
SEHE M12-L
ith= 99 0641 10 05
L&
With flats as anfi-rotation device With bore hole Tightening moment
Metall housing/Plastic housing 1,25 Nm
450 Thickness of wall Y (mm)
1 ) Version min (mm) | max (mm)
/ \ i b Fastened from rear 2 3,5
- Front fastened 2 45
= —| = positioning possible M | 2 3,5
= = = Screw clamp 2 35
Thread M12 x 1 2 3.0
\/ | Lo Thead MIx 18| 915/ | 65
[} ‘ i
‘ Notes
Zé . 1) Do not attach a chamfer
_ 135 = ERES ) 2) Wall thickness:
Y use nut 38 5385 100001 up fo 1,5 mm,
B L H >1,5 mm cut thread

Installation direction: o-ing sits on chamfer.

3 Nut
) Thread in wall of housing

binder

HHA : 09.04.2024



= amini A

=y«
ST LR S 5S-E » BF =l binder

i M12 $H3EZBE, 1R E8: 4+FE, JEBFHK, THR, IP67, M16x1.5, #RATEIE
B M12-L
Bs 99 0641 10 05

LZERT

HHA : 09.04.2024



